[T SSE 26

SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2018
Part — 111
BIOLOGY

Maximum : 60 Scores

Time : 2 Hours
Cool-off Time : 20 Minutes

(General Instructions to Candidates :

* There is a 'Cool off time ' of 10 minutes each for Botany and Zoology in addition
to the writing time of 1 hour each. Further, there is a '5 minutes ' preparatory time'
Jor Zoology at the end of the Botany examination,

* Use the ‘Cool off time ' to get familiar with questions and o plan your answers.
* Read questions carefully before answering.

* Write answer to the specific number of questions as instructed.

* Calculations, figures and graphs should be shown in the answer sheet itself.

* Malayalam version of the questions is also provided.

» Give equations wherever necessary.

* Electronic devices except non programmable calculators are not allowed in the
Examiniation Hall,
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PART - A
BOTANY
Maximum : 30 Scores

Score
I. Answer all questions from 1 to 4. Each
question carries 1 score. (4x1=4)

1) Observe the relationship between
the first two terms and fill in the
blank,

Fungus and alga : Lichen ;
Fungus and roots of higher
plants :

2) Choose the correct answer.

Vegetative propagule in water
hyacinth is :

A) Bulbil

B) Rhizome

C) Offset

D) Bulb

3) Fill in the blank.
Detritus food chain begins
with

4) Infestation of meloidegyne
incognitia in the roots of tobacco
plants can be prevented through a
novel strategy. Name that strategy.

IL. Answer any ten questions from 5-16.
Each question carries 2 score.
(10x2=20)

5) Write the steps involved in the
production of genetically
engineered insulin.

L

IL

Time : 1 Hour
Cool off Time : 10 Minutes

Score
ey, ymad moal CUSMWEE agel E.019a)
smtdan)io HEMDE ag)P)Mdh. B3O E.010R)
amilmje 1 aapaed afime. (4x1=4)
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A) enucdenich
B) ssnemoe
C) soademog
D) erucdens
3) aligieniow 83t alydinflende.
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@b orilornoent,
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Score Score
6) Define cross breeding. Name the 6) wmmﬂmmﬂ;ﬁs
R i i OG)FLTLBs, Bl o
I:I:-ced c;-: :?c:f ];I;v;lic:lped in Punjab ool o 6.is0m
RO SIpR ARa RS, eamdwosied pme agl ?
7) Observe the pyramid given below. 7) aucues neialidleam aledloy
el cnadlopenycen.
TC (Tertiary Consumer) 3
SC (Secondary Consumer) 3, 54,000
PC (Primary Consumer) 708, 000
PP (Primary Producer) 5, 842, 000
Name the pyramid. adledloufied saleneim)s:.
Draw a pyramid using the following ayoies nlelaidenmm somoe palswouilal
data. sy afladlod cuogds.
PC 21 PC 21
PP4 PP 4
8) Aquatic mammals like seals have a 8) me ovmimoflwow milellod awsdmalalad
thick layer of fat below their skin. &5lwjen 6 wogl a9l g,

- o
Name this layer of fat. Write the 0 880 ;Lagm)&miwmcm 7 g
function of this layer. e ek 2l

9) mogmymes Hmeges ageuleo
adboed PCR eyes miiddland
aflage. PCR afleyeledane.

9) Multiple copies of the gene of
interest can be synthesised through
PCR. Expand PCR and write its

Do “QgeTmeb ag)fimie.
steps.

10) Namethespecial cellular thickenings 10) eamumisiiouegn @ommoesm &g
present in the synergids, Write its WG SHINSIW BIAMANS AlOD
function. ). @ROLEOS WhHdo ng)#imids.

11) Name the enzymes known as 11) ‘momo d@fledi’ agmdlwagsim
‘molecular scissors'. Give an @arruou ngyal ? EREmte eaecT e
example of such enzyme. 10, HAIDTENO ) F ek
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Score
12) Transgenic animals have many uses
to humans.
Name the first transgenic cow.
Name the protein contained in the
milk of this cow.

13) The seral stages of hydrarch
succession are given below in an
incorrect order. Arrange them in

correct sequence.

Forest, Reed-swamp, scrub,
phytoplankton, Marsh-meadow,
Submerged free floating plants,
Submerged plants.

14) Match the items of column A with B.

A B

a. Desert Lizard | 1) Concentrated
urine

b. Kangaroo rat | ii) Diapause

c. Snail iii) Bask in the
sun
d. Zooplankton |iv) Aestivation

v} Hibernation

Score
12) moflasssope cuyamile oymemd
amias B ale dafleldd pacwan

majece] sallmaenige cunymdio
Tew gamoms ? mn avolend
~oellzyss aoomymaflen e ?

13) soanwohdes mugauad miom sarg
0l MR (@aemld aijues
nHlwldlenm) eeuew oo
iSaariled agyeimss,

umo, Ol opjomd’, |open’,

UMy g udbe, @adat Himeaus, ayendles]
SE0lMmlo qulmmade] av)e]
MESYMIMIDIN LSRG, ajendlesd)

SEHRITN U yem3ch

14) csoge A @je B wje caimjentd

LI

A B

a. omEdioies | i) adwies ame

el
b. @wotnom, ng;eﬂl 1) as@osaomy
[
C. agf iil) el

WAt
d. memygjauso |iv) egmilecunscd

V) Bennsnlbamnudh

15) Name the bacterium from which cry
genes were isolated. Name any
two kinds of cry genes.

13) sowe eimed cudalde s ema
aq® eusgltlwomled oflonoen
LAOMES2ic BETE S6ds Hlmians

LN LT
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Score

16) Analyze the table given below and
fill in the blanks.

Score

16) ayues nabelaldeanm aidle afw
@elme e alls) enlomw samseed

III. Answer any two questions from
17-19. Each question carries three

scores. (2x3=6)

17) One of the important features of
cloning vector is the presence of

selectable marker.

a) Write the role of selectable
marker. Name the selectable

markers used in PBR 322.

b) Write the other two features of

cloning vector.

o ljtlo flaadn.
A B C
Monarch butterfly and bird Predation
amoemodas) afimuiaiznye niesdlage
orafidlema
Beneficial to one species and the other
species has neither benefit nor harm
NP e an) siofoodnemdlod wieme, megafiad wmyemens ®
asflegio smmyeoellege I s §
Ticks and dogs ©® @
8218810 MWDo T
III. 17 aymad 19 cuenw)ag e.ossmjsmgod

agemeslaljo neemspEwilal gamoe
ag)¥im)dn. HIEDI B.alIE)TEIMie @y
ampad allao. (2%3=6)

17) agoenilotd acugoea1es o) niwom
g ruaflevnsmaoen sxrueiggeniiod

@obea0B:a1es monmiwle.

a) el g el aIdennemans
rdee 7 PBR 322 @b paa eme
dgertllid modannietd agamese ?

b) egoeriont acugoieaes af oad
munflevnsmesud ag)emes.
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18) Observe the terms given below. 1

8) aucues matanlafidlenm ciasmad

Tl ey,

Natality, Mortality, Immigration,

Emigration

| agdiagncscd

magoelld], emodsoaldl, sdlewnasd,

Identify and write the terms that
increase population density.
Substantiate your answer with
suitable explanation.

19) Observe the figure given below. 19)

=mmesyp muogem uduliafeaim ae
g530d afleasms)eae. tedlwow allvudle

6o Ml SEmEe MU ElHas.

alruss mulalaldsenm alme did
],

Wells
DNA
& bands
l Largest Smallest
4 T e TR T

a) Name the technique illustrated

in the figure.

b) Explain the process of separation
of DNA fragments through
this method.
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PART-B
ZOOLOGY
Maximum : 30 Scores

Score

Answer all questions from question
numbers 1 to 3. Each carries one
score. (3x1=3)
1. ABO blood grouping in human beings

is an example of
a) Incomplete Dominance
b) Co-dominance

¢) Linkage

2. Note the relation in the first pair and
then complete the second pair.
Purine ;: Adenine, Guanine
Pyrimidines :

3. Expand the following in relation to
assisted reproductive technologies :
a) ZIFT
b) ICSI

Answer any nine from question numbers
4 to 14. Each carries two scores.
(9%x2=18)
4. Typhoid is a disease caused by
bacteria,
&) What are the symptoms of this
disease?
b) Name the pathogen and the
confirmatory test.

Time : 1 Hour
Cool off Time : 10 Minutes

Score

1 qyoad 3 cuenwes agpPd 2annajaBdeNo

SOMONASYTE:. SIGLI €.219B)OIM0 B} eTRD
allme., (3x1=3)

1. amsyfieer ABO asmigjgjiedd agoml
a0 proa0meMMmeT ?
a) @ufld [nlds aujEalo
b) maopimsum

C) MadTN®

2, acmomsrer oo luis) enxmuo amxpendssd,
remaomexar 622wl aydorelaosns.
al &rﬂmgca:u% - e, vijpoild
adldladloufiongesdd .

3. mydelsm manowmoseale: alle)

Snow TS MmoaY MMISEsnaw
allayelledleads :

a) ZIFT

b) ICSI

4 ymait 14 cuenm)gs aaos)seglal agemelale
aball a.010a)eundest PMTRORPM]E. RIBV
a.alom)orimio e gayod. (9%2=18)

4. euogdl® PEMOSHYTN BE] ERINAIETT
aestanowiod,
8) 7 soownmmied leaemend
ag)emgjoe 7
b) amowcemyalien aniaie mudldieoem
aldlaRoWmENS ARl ag)FLmid:.
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Score Score
- This principle says allele frequencies in 3. ey doumacgaies el easoayom
a population are stable and is constant DEAOEE emI0 mudleayo Ayueaymoud
. . dlesyaan r
from generation to generation, RPN B0 axmo a KXYy
Whi T a) meme agal ?
a) ich principle 7 b somemen Foadany A
b) Name the factors affecting this gy
principle.
6. counjonldl gaidbens,
. Match the following :
Neanderthal man i Hunted with stone weapons.
| eodawdmed amyd | | cilenwwend amoee erugwod,

Fossils discovered in Java, large brain around 900 cc,
Australopithecines .. | probably ate meat.

Enpeana lamaamumboy ¢a0omleyedd morualinl ssnemand], 900 cc cwosaes el

aflaglo, @oomo ssllafloiamaT ey,

Homo habilis Used hides to protect their body and buried their dead.
iii. | oo icadslkeno aiemmoageb Bnswouilajmyermy .
QYMERNEMID Mrssne B alglaymn),

" | ganosmo anoenfleflm

Homo erectus meat.

| aanoeao gCaEssmi aqflag cuellgjo 650-800 cc, @oomuo @l fieymgy.

Brain capacities were between 650-800 cc, did not eat
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7.

9.

10.

Score

In order to code for all the 20 amino
acids, the genetic code should be made
up of three nucleotides.

a) Who suggested this ?

b) List any four salient features of

genetic code.

The following figure represent central
dogma.

Replication

transeription
DNA
4

g

a) Who proposed central dogma ?

b) What does it state ?

Cancerous cells continue to divide
giving rise to masses of cells called
tumors. Tumors are of two types.

Briefly explain them.

A cross 1s made between tall pea plant
with yellow seeds (TtYy) and tall pea
plant with green seed (Ttvy).

a} Using a Punnett square, workout
the proportions of the following
phenotype in the off spring.

b) Tall and green,

¢) Dwarf and green

7.

mRNA

9,

10.

Score
20 ardlem: mR@EmOSWle CHIWE

momd, any moilme emonddd (genetic
code) 3 myglewo anguued gamowl

dleneme.
a) e riideguil.gmod ?

b) el esoaflan apomalege moel
(IO TOYEIOIETRUY af) L)),

moaemriges allime e miarsomanm
(central dogma) afmhendleaimy

translation protein

a) sammniavorme ofibeaudlamod ?
b) mp milavsmme agyomaen’
Indrpoaflesyma ?

mpdenyeesmomnssid mst oy wow] alle
glal sumopeE:t agom eHow Moan
STBEIABOATY, SYUBOjERCE memamumend.
mrcuaw ayme allond et

pwasnsmeye asmmalomags (TIYy)
B0} eolslow, DWOSNSIMejo alal
allemymes (Ttyy) eey sadlayooal
(rugsmemo 621G .

a) wemg aimwe Oaleitilal, Mmaey
oOWIM B PLAIMBRIOS ERSIEM
meaoelnel Emmyalomo &)
aflglee)s,

b) pwasssimele alajw)o

¢) pwWRBMONe alalWle
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Score

11. An individual affected with a genetic

12,

13,

disorder is short statured with small

round head furrowed tongue and

partially open mouth,

8) Name the genetic disorder,

b) Write the chromosomal
composition,

Arrange the steps of DN A fingerprinting

in the correct order,

a) Transferring (blotting) of separated
DNA fragments to synthetic
membranes, such as nitrocellulose
or nylon

b) Detection of hybridised DNA
fragments by autoradiography.

¢) Isolation of DNA

d) Hybridisation using labelled VNTR
probe

e) Digestion of DNA by restriction
endonucleases

f) Separation of DNA fragments by
electrophoresis

Homologous and analogous structures
are evidences of evolution. With
examples explain homologous and
analogous structures,

11.

12.

13,

LT

Score

a% &Tos oncuseo STUOU 5 ol b vey
gzesaionl saole gojem ma,
24 22488 Mo, @aalo myom cuswlago
Umend.
a) sofimas Da&ammloq g

) FImys,
b) smomemioe mumdanyafl agysims.

W egd. ag). adlond ifledloa nag

FEOE lwomw wamerfled 0g) ST,

a) erubous; o . ag)ob. ag).
fuemusTEeg (eanmasa SMISLeaiamy,
BOMERIEE ag)em]) e moywn
(synthetic membranes) emslloaies
aonT

b) @ego contlemoinad Sewadlgf
s wll.agod.ag). SUEMWEm6E afid.y
i

€) ol agyh. agyes eudefidlend

d) moswagenysiome VNTR gaoemr
Dolewovdlaygs musnems

e) eomideand n@r@um:mﬁﬁ"a@nﬁ
B&0meas wl aged. ng wWies
BanMo.

f) DEIZIAR0SOMINY 6106 W, gy,
og)- SUBMWETRGINS gutenismma,

TagImAdNamEge mawha BOWEMALC
o 0] Mo @ e & o gl goem”,
MaRIMBINMEAI0 MWD BIIEMmRL0
£=antemmiaimo fledladlane,
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Score Score
14. Innate immunity is accomplished by 14. mpssale nlossy TUOAL I BOBR M,
providing different types of barriers to BOMIURIERE oo ESEN M

the entry of the foreign agents into our

o eflend] b -
body. Name the barriers. W WSOUETEUR Mgl e jeeoenan

P WSTOEMIAD agye)myde.

Answer any three from question numbers | 15 %18 UeU8S 2.2 loaymaglal agemelayo
15 to 18. Each carries three scores, AN 8.2.00 )M Bae; 9EmO0 ag)#jmye.
(3x3=9) | 2% canayEmimjo aymi aapod. (3x3=9)

15. The figure shows the process of | 15. masesdeges (EUlfﬂf}’Otes) ol
transcription in Eukaryotes. Osieocllo (transcription) (nyelw
wen allmerafied @ndarilofldleaymar

Messenger RNA (m RNA)

- a) alcemod icodles oy, :
a) Explain the terms ]
i) Capping j] Enjogflewd
i} Exon it) agyagoend
iii) Intron 1il) gdeisasrid
iv) RNA splicing. V) @@d. agd. ag). AyMqRotwILMo
b) Differentiate heterogeneous nuclear b) @angano mmg :de;@ﬂfﬁ
@R, agad. ag). (hnR} agio. mpad.
RNA (hnRNA) and mRNA. %®. 0. (MRNA) ngmlaimype
QUIBIITO gy L@y,
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Score

16. Placenta acts as an endocrine tissue
and produces several hormones.

a) What is placenta ?

b) List the hormones produced by
placenta,

¢) Mention other functions of
placenta.

17. Complete the table below by
using appropriate terms regarding
contraceptive methods.

Score

16. aojaligs amy eermuoalivmdwsa
lrlcudonflan@o 8nnodemom e

pdalodlolenmio aalgumm).
a) 20ynllgn agyrmomd agoe ?

b) 2opigs pdandaflenm gunod
BDIENHUD )L,

C

o

zopllanmes ag wianengd
Ag) P ),

17. viemlesswmmasdmeamgaow)
FLTWLEGYS g.a [laoa alesmnid poisoo
2] D08 OBOSANM ol aydon]
WIS e,

Natural method
(symllacm aodwamd | — ——

Surgical methods
e nobumema S

Withdrawal or coitus

interruptus Condoms
=] o T
adlibruosmad oo g:z,gmm . S;Jn :E;i:-;‘;:;jug Ds
TTLLE o 8
mealjdern eaayme
Tubectomy
- . e mremumagl .ands f

18. Female heterogamety is seen in
birds. '
&) What is female heterogamety ?
b) Name the type of sex-determination
seen in birds,

c) With examples list the other types
of sex determination

18. aiasllagldd (ldlmenNmamemio

BN} QU

a) (dm eNmmmamio agyrmand
agyon ? :

b) aesegoa elonmdemu o
0g) Mg,

c) opy elow mldemwnlm ek
£rvanmem Miadimo Ml
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